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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1 b
\ | \ | a=25cM b=55cm,
x e xo c=40cM, R =30 cm,
= my = 55 Kr, mg = 14 Kr,
a =0.14 pag, L =15 cMm,
77}7A (xC é zZ M,=0.6Hwm t=5c.
n l
y 1 Y2
Bapuant 2 b c
‘ ‘ ‘ a =30 cMm, b =50 cmM,
T T To c =40 cm, R = 35 cwm,
o m1 = 55 Kr, ma = 10 Kr,
a = 0.13 pang, L = 20 cm,
; ac gB zZ M,=12Hwm t=4c.
<7
y L Y2
c
‘ ‘ a =35 cMm, b =65 cwm,
ro €=050cM, R=45cw,
m1 = 80 Kr, me = 18 Kr,
B a = 0.16 pang, L = 25 cMm,
g Z M,=14Hwm t=6c.
Y2
Bapuant 4 b B
‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
To o1 T c=>55cMm, R =55 cwm,
o my = 30 kr, ma = 10 Kr,
¢ A a = 0.08 pag, L =40 cMm,
o — g Z M,=14Hwm t=4c.
ey
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Bapuant 5 b B
‘ ‘ ‘ a =35 cMm, b =45 cwm,
T2 o1 T c =40 cm, R =45 cwm,
i @ m1 = 60 Kr, mo = 6 KT,
a = 0.09 pag, L =25 cMm,
4 -’g zZ M,=3Hwmt=3c.
« C 77 7
Y2 Y Y




Bapuant 6 b

a=25cMm, b=45 cmM,
c=35cM, R=35cwm,
m1 = 60 kr, me = 10 Kr,
a =0.1 pag, L =15 cwm,

2z M, =1Hwm t=4c.
.
Bapuant 7 b
| | | a =35 cm, b= 45 o,
To T T ¢ =40 cm, R =40 cwm,
s m1 = 55 Kr, ma = 10 Kr,
a =0.13 pang, L = 25 cMm,
ac 7;1 gB M, =1.6 Hm, t =4 c.
ey
Y2 L y
Bapuant 8 b
a =40 cMm, b = 60 cwm,
¢ =50 cMm, R =50 cm,
m1 = 90 kr, mg = 10 KT,
B a = 0.16 pag, L = 30 cm,
zz M, =4.6 Hm, t =4 c.
.
Bapuant 9 b
‘ ‘ ‘ a =35 cMm, b =45 cwm,
T2 o1 T c =40 cm, R =40 cwm,
e my = 55 Kr, ma = 6 Kr,
a =0.12 pag, L = 25 cMm,
aC T -’g M, =2.7Hwm, t=3c.
7. 7.
n
2y Y
Bapuant 10, b
‘ ‘ ‘ a =45 cMm, b = 55 cwm,
To o1 T ¢ =50 cMm, R =55 cm,
@ m1 = 70 Kr, mo = 10 K,
a =0.12 pag, L = 35 cMm,
4 -’g M, =35 Hwm t=4c.
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Bapuant 11 b
‘ ‘ ‘ a =30 cMm, b =40 cwm,
T2 o T c=35cMm, R=35cwm,
& m1 = 65 Kr, mo = 10 Kr,
a = 0.15 pag, L =20 cMm,
a( T fg M, =16 Hm, t =4 c.
7. 7.

'

Y2 " y




Bapuant 12 b

c
\ a=20cm, b=50 cu,
xo c=35cM, R=30cm,
m1 = 85 Kr, ma = 18 Kr,
B a =0.17 pag, L = 10 cMm,
Z Z M,=0.6Hwm t=6c.
7
Y2
c

\ a=35cm, b=55cM,
To c =45 cMm, R =45 cm,

m1 = 65 Kr, mg = 18 Kr,
B a =0.13 pang, L = 25 cMm,
2z zZ M,=1Hwm t=06c.

77

Bapuant 14 b

‘ ‘ ‘ a =40 cMm, b = 50 cwm,
- o1 T c =45 cM, R =50 cwm,

= my = 50 Kr, ma2 = 6 Kr,
a = 0.07 pag, L =30 cm,

A
'-’g zZ M,=27Hwm t=3c.
« 7. 7.
¢
n
Y2 L y
Bapuant 15 b c
‘ ‘ ‘ a =25 cMm, b =55 cwm,
T o1 ro =40 cM, R =30 cm,
& m1 = 40 kr, ms = 10 KT,
= 0.1 pan, L =15 cm
A B @ , ,
aC & zZ M,=05Hwmt=4c.
77 77 //
n
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‘ a =25 cMm, b =55 cwm,

ro c=40cM, R =35 cm,
my = 70 Kr, ma = 6 Kr,
a =0.11 pag, L =15 cMm,

4 zZ M,=24Hwm t=3c.

Y2

‘ a =25 cMm, b =45 cwm,
o c=35cM, R=35cwm,
my = 70 Kr, mg = 18 KT,
a =0.14 pag, L =15 cMm,
2 z M, =0.6 Hv, t =6 c.




Bapuant 18 b

\ | \ a =40 cm, b = 50 cw,
To T T c=45 cMm, R =45 cm,
m1 = 45 Kr, mo = 6 KT,

a = 0.1 pag, L =30 cwm,

(xc A ZE zZ M,=25Hwmt=3c.
7. 7.
n
Y2 Y1 Y
Bapuant 19 , b c

‘ ‘ ‘ a =30 cMm, b =060 cmM,

T T xo c=45cM, R =35 cu,

mi = 50 Kr, mg = 18 Kr,
=0.14 pan, L =20 cm

A «@ , ,

(xC fg zZ M,=05HwMt=6c.

777 777

c
‘ a =25 cMm, b =55 cwm,
ro c=40cM, R =35 cu,
m1 = 50 kr, ma = 14 Kr,
B a =0.09 pag, L =15 cMm,
Zz zZ M,=05Hwmt=5c.
g
Y2

‘ a =50 cMm, b =70 cMm,

o ¢ =60 cMm, R =55 cm,
mi1 = 70 kr, ma = 14 Kr,
a =0.17 pag, L =40 cm,

A
aC Zg Z M.,=31Hwm t=5c.
77 l 7.
n
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Bapuant 22, b c

‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
To o T c =55 cMm, R =55 cmM,
my = 45 Kr, mg = 18 KT,
a =0.13 pag, L =40 cm,

A B
o Z Z M,=12Hwm t=6c.
77 77
U
Y2 " y

Bapuant 23, b

‘ a=45cMm, b="T5 cwm,
ro €=60cMm, R =55 cM,
m1 = 80 Kr, mg = 14 Kr,
a =0.15 pag, L = 35 cMm,
4 zZ M,=3Hwm t=5c.

Y2




Bapuant 24,

c
a=>50cMm, b="T0 cmM,
c =60 cMm, R =60 cMm,
m1 = 65 Kr, ms = 14 KT,
B a =0.12 pag, L = 40 cwm,
g 2 M,=25Hwmt=5c.
c
a =45 cMm, b = 65 cmM,
c=>55cMm, R =55 cm,
m1 = 60 kr, mgs = 18 Kr,
B a =0.12 pag, L = 35 cwMm,
2z Z M, =1.3Hwm, t=26c.
.
c
a =40 cMm, b = 60 cwm,
c =50 cMm, R =50 cwMm,
m1 = 75 KT, ms = 18 KT,
B a = 0.15 pag, L = 30 cm,
2z Z M, =1.6 Hm, t =6 c.
.
Bapuant 27, B
‘ ‘ ‘ a =55 cMm, b = 65 cwm,
To o1 T ¢ =60 cMm, R =60 cm,
& m1 = 25 KI, ms = 18 KT,
a = 0.09 pag, L =45 cMm,
4 ZE zZ M,=0.7Hwm t=6c.
7. 7.
n
Y2 Y1
Bapuant 28, c
‘ ‘ ‘ a =35 cMm, b =45 cwm,
T2 o1 T ¢ =40 cm, R =40 cwm,
= m1 = 35 KI, mg = 14 Kr,
a = 0.1 pan, L =25 cwm,
4 ZE zZ M,=0.6 Hm, t=5c.
l 7. 77
n
Y2 Y1
Bapuant 29, c
‘ ‘ ‘ a =40 cMm, b =70 cwMm,
T o o C€=D55cM, R =145 cwm,
& m1 = 50 Kr, mo = 18 xr,
= 0.14 pan, L = 30 cm
A B < ’ ’
Z Z M,=09Hwm,t=6c.
7. 7.
n
Y Y1 Y2




Bapuant 30, b
—
T X2
(Y|
A (] C 2
7. 7.

a=35cM, b=>55cmM,

c=45 cMm, R =40 cm,

m1 = 70 kr, ms = 10 KT,

a = 0.16 pang, L = 25 cMm,
zZ M,=23Hwm t=4c.
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19
20
21
22
23
24
25
26
27
28
29
30

0.215
0.318
0.152
0.228
0.465
0.256
0.318
0.379
0.565
0.296
0.365
0.150
0.130
0.398
0.247
0.543
0.128
0.491
0.132
0.148
0.242
0.124
0.217
0.179
0.115
0.146
0.086
0.163
0.135
0.369

1.075
1.274
0.911
0.912
1.395
1.026
1.274
1.514
1.696
1.185
1.461
0.899
0.779
1.193
0.988
1.628
0.767
1.472
0.793
0.740
1.208
0.743
1.086
0.897
0.691
0.873
0.516
0.816
0.808
1.478

-3.043
0.000
0.000
0.000
2.273
0.000
0.000
0.000
2.459
0.000
0.000
0.000
0.000
3.214
0.000
1.184
0.000
3.529
0.000
-3.281
-6.667
0.000
-5.213
-7.089
0.000
0.000
0.000
-7.143
0.000
0.000

0.000
3.077
-4.592
10.000
0.000
2.143
3.846
3.000
0.000
4.375
2.667
-1.748
-5.422
0.000
3.000
0.000
-3.068
0.000
-5.294
0.000
0.000
-11.429
0.000
0.000
-8.077
-5.806
-18.837
0.000
-7.941
3.125

44.275
37.692
56.122
-72.500
-48.182
31.429
-50.385
46.000
-48.443
-60.625
-44.000
34.854
46.928
-54.286
44.000
32.500
34.205
-54.706
57.794
45.781
61.667
-74.286
65.106
62.405
60.000
51.613
-88.023
-55.000
73.088
41.875

-1.464
-0.508
0.196
-3.012
-7.431
0.056
-3.548
0.997
-14.848
-1.326
-4.012
0.240
0.387
-6.993
0.075
1.974
0.283
-12.792
-0.388
-0.481
1.996
2.232
-1.997
1.815
0.400
0.619
1.999
6.764
-0.574
-1.033

0.272
-1.023
-1.964
-9.915

1.775
-0.571
-11.938
-2.521
2.918
-15.125

-12.492

-0.797
0.868
1.954
0.759
-0.404
0.493
2.897
-1.101
0.130
-0.330
12.034
0.368
-0.405
0.966
1.304
6.490
-1.657
-1.720
-1.698

3.892
-0.129
0.487
2.100
4.510
-0.440
2.752
-2.133
10.532
0.289
3.281
0.029
0.197
4.431
-0.446
-4.359
0.062
8.893
0.864
1.631
6.181
-1.340
7.773
2.688
0.326
0.167
-1.303
-4.431
1.301
0.109

-0.724
-2.221
5.695
6.585
-1.077
-1.007
7.883
-4.360
-2.070
10.209
8.224
2.251
1.860
-1.238
-2.223
0.893
1.096
-2.014
3.365
-0.441
-1.023
-8.056
-1.432
-0.600
2.046
2.813
-4.337
1.086
5.246
-3.763




